Va.®

3 aal) 2amta a gil)

ol

(3 + 5x—2)(5x — 1)+ 6 X 6x— 6

x+ (4—6x)(5x+ 4)(3x—5)

(x+ 5)(2x— 5)(5x + 5)

(5x— 6)(6x + 5)(4x — 2)

(4x* — 6)(2x +3) + 58 —3x — 1

EEN NG BL

(6)62 +S5x+5)(6x—1)—5x4x—5

(o — 6x+2)(x+4)—2 x2x— 4

(5x— D) —x+ 3)— (4x + 2)(3x + 3)

(6x° — 4x— 1)(dx+2) + 6 x 5x— 2

(2% + 5x— 4)(4x—4)— 6 x 5x+ 6
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Va.®

3 aal) 2amta a gil)

ol

B>+ 5x—2)5x— )+ 6x6x— 6
15%° + 2% +21x— 4

x+ (4—6x)(5x+ 4)(3x—5)
—90x°> + 138x” + 69x — 80

(x+ 5)(2x — 5)(5x + 5)
10x° + 35x% — 100x — 125

(5x— 6)(6x + 5)(4x — 2)
120x° — 104x” — 98x + 60

(4> — 6)(2x +3) + 5¢ —3x — 1
8 + 17x* — 15x— 19

Aagull NGBS

(6x% + 5x+5)(6x— 1) — 5 x 4x— 5
36x° + 24x% + 5x— 10

(F = 6x+2)(x+4)—2x2x—4
X = 2% —26x+4

(5x— 1)(x® —x+ 3)— (4x + 2)(3x + 3)
56— 188 —2x— 9

(632 — dx— 1)(4x +2)+ 6 x 5x— 2
24x° — 4% + 18x— 4

(2% + 5x — 4)(4x — 4) — 6 x 5x+ 6
8 + 12%% — 66x + 22
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